#;E

BT ARYERE O FETE AR (FEET) BEARIZIS

~

\l

1‘%‘%@1‘%‘%@%&01/\ VIDIE

(tham B A1)

BiL7poTBVET, (‘ﬂj‘]uu S O BN S W ST = G

ﬂlh“Féb N )

Togal Fnow Conmestions

(—HhAHERR ifcvﬂmza&%%ébﬁvé\%:“é“b \SETO FEHNIA— I — B ICTHEGE TS, BERDH TG E | REEDOTETT, ) i ] EBE“W K/g r,:$a/3/z
— T381-0038
(2009 1A] #E— REEHA 2009 £ 1 F 16 H EBRRSMRIE 857
TEL:026-256-9677 FAX : 026-256-9688
X PEEE I BRVENHDGE . TR A— /LI, info@tke—g.jp FTIEHELTZI, [20095 1A] <= 1> URL:htto://ww. the-€. jp/
221 — TR | g gy [ URBL G RR T <. O P R LT >
(1A) oA || gens| aewetin| o [ xosr| x| v | Ty
48 | =EYE |CRINUME= MTJ | T | 1oolﬁl| 3&3&10&14| 308.5 | 30.85 | 61.0% | 3.548 | 8 15 | 1,555 13.50 | 1,400 |(~~Y) <WeZ5>2R=15.0% 15R=46.0% <3&@ 7 >15R=39.0%
(—#piis) | @NIBRIEL =72l @IRET) @8HAEV—) @IEF=—EH k] (FBF2—)<HeZE>2R=8.0%+ 15R=53.0% < >15R=39.0%
CRIMLE= MTL | T | 100!EI| 3&3&10&15| 345.5 | 34.55 | 65.0% | 3.818 | 8 15 | 1,675 1,299 | 1,450 |(~) <WeZ5>2R=23.0% 15R=42.0% <if#;>15R=35.0%
@ B KIEL =70l @IREH) @I8fAT)—] @IEF=—MEHk) (FBF2—)<HeZE>2R=10.0% 15R=55.0% <if 7 >15R=35.0%
1%y [CREFEXHE N-V(C) |kt | 10| 3&4&9&10 | 99.25 | 19.85 | 80.0% | 5.420 o | 71502 | | g [(FEZDRR-22.00NRITEY -TR-53.0% - 15R-5.0%
@ [ IRIRZE | =Hkie 247 @T/IN40 fiER=1/198.5 15 | 1,075 (W [E]=1.0%/ 1R or ¥k [A1=10.0%/ 7 Ror 10[H]1=11.0%)
| | | G >2R (00r10[]) =20.0%
M [ [CRREFFR—IL AT Z | 7 | 77!EI| 3&3&10&13 | 397.7 | 39.77 | 82.0% | 6.744 . 7 | 754 o6 | 031 <HEZE>2R=11.0% TR=25.0% 15R=46.0% <if 7 >2R=18.0%
@B RIEE =72 @ISEAT)—| @IET=—MIiH{k) 15 | 1,615
CREEBHF=L 1T F | ) | 77!EI| 3&3&10&13 | 346.3 | 34.63 | 80.0% | 6.247 . 7 | 754 o1t | sma <HEZE>2R=11.0%TR=28.0%+ 15R=41.0% <if i >2R=20.0%
@B R 1 =72l @ISEAE)—) @IETF=—EIiH(k) 15 [ 1,615
CRAZE BTy L 7 Gl 7 2071 3&3&10&10 | 97.67 | 13.95 | 80.0% | 6.143 6 7 | 376 o <HEZE>2R=26.0%+ TR=42.0%+ 15R=12.0% <ifi & >2R=20.0%
(FEEARE) 15 | 805
BAE |CRAD—AL 2a-3—70%) FPW| #{KkA | 30l 3&5&10&10 | 99.9 | 14.10 | 65.0% | 3.864 | 8 7 | 502 | 6.20 | 444 [(~) <HEZE>2R=30.0%-7TR=35.0% <t >7R=35.0%
@ ERTEE |=#ERY (7 @REE) @ISHATY—| @EF—ELHt] @I/ Y0 | FeR=1/370 ML 0> 2RI IRFEZE=27.0% B[ HEZE=3.0%
(FBFa—) <HEZE>2R=5.0%TR=60.0% < >7TR=35.0%
B B |CR7'AW—2)— Game of Death XR| #E{RA | 100[H]| 3&3&10&13 | 299.4 | 29.94 | 80.0% | 6.340 F 5| 478 (™) <HZ5>2R=25.6% (WIEITEIR=10.4% IR kAE=15.2%)
GEMERFE) | @TIEHMRHEZL | =WIRIRE +HkOEEGH A7 @ISHAE)—) @IETF 2—EH] 8 |[3z10| 957 | 7.64 | 731 <HeZs / FEHEBBY> 925R=3.2%+ F210R=4.0% 3215R=5.2%
@ [/ 40 g = () KB - (FBF2—) RAERE 15 | 1,435 <HEZE>15R=42.0% <% >2R=20.0%
(BT 2—) ~VHIREFER, T N L
CR7'V—2)—Game of Death HDH ¥RA | 50F]| 3&3&10&11 | 99.8 | 19.9 | 75.2% | 5.607 F 5| 398 () <HEZE>2R=15.6% (WIEIVE R =4.4% I IRAk#se=11.2%)
@ [ IRHEAS | =PRI RE +H ke O E Y17 @ISHAT)—) @IET = —ELW{k) 8 |[3z10| 797 | 3.46 | 276 <HeZs / FEHEBBY> 925R=3.2%+ F210R=3.2% 3£15R=3.2%
@ [/ 40 g = () KB - (FBF2—) RAERE 15 | 1,195 <HEZE>5R=50.0% < & >2R=24.8%
(BT 2—) ~VHIREFER, T N L
$8 EE |CRGU-GUWNE SXL W4 | 0/20/ | 3&3&13&10 | 79.92 | 7L | 2f&4 | 3.000 w6 | 430 <H4 Y - AT L 2> 20[A]=50% (27 243821 T . 50[A112)
2FE Y 50[a] (Vws—5mEITH)| 8 | # 5| 358 | 6.17 | 442 [<2FEY4VEEER> 5R=70.0%9R=30.0%
9| 645 MEFE P OS5 ELERIX, 1ZIE100%,
GU-ChancZZ ABF] 6.20 | 444
L




¥ FEMIEIC, BRVERH DA THRFEA— VI, info@tke-g.jp FTITBAEIZEWY, [20094F 1H] <<= 2>
s == o | Ay Y4 2K(1 PN =31 EMAX) | 2 44 (MAX
gi’; A=y — WAL, B | BRE| gy | SR %;BTM %i‘% ki, (Hﬁ.) ;riif('m) M <, O PR ERLTOET >
1B | X—BR5E |CRAEILD4EEA NS TN 30M| 3&3&10&10 [ 99.8 [ 9.98 | 62.0% | 3.560 g 5 | 358 601 | 133 <HEZE>2R=10.0%+ 5R=38.0%+ 16R=14.0% <if & >5R=38.0%
16 | 1,147
IRy |CRY¥AJRUSH R R | 70+3[E]| 3&3&10&14 | 398.7 | 40.50 | 100.0% | 6.203 ; 2 | 175 097 | 96 (~Y) 2R(HEME)=10.0%: 2R (H EH) =15.0%+ 14R=75.0%
(ST=73) 14 |[1,227 (FBF=—)2R (HH E M) =0.0%- 2R (HH EH) =25.0% 14R=75.0%
@ N IRAEZS ) = HAMIZ, YT @TSEATY—] @TETF = —ELNl) K[ST=70[E1 ] D [3[El#R ) 1%, B H ML O mEFEFRIREE
CR¥¥WRUSH G WRA [ 70430 3&3&14&10| 159.6 | 45.60 | 100.0% | 5.046 2 | 155 (~) 2R(HZEHE)=10%- (IHEAH)=15%TR=70.0-14R=5.0%
T4y~ HEREO=101H (ST=73) 9 7 | 544 | 6.06 | 471 |(FEFa—)2R(HEHE)=0%- (H EA)=25%TR=70.0+14R=5.0%
@ VB RTEZ | =AM, YT @I8HAE)—] @IETF =—Ehi L) 14 | 1,087 ¥[ST=70[EI]#£ D [3[EIHR ] 1X, By L O &R EE
188 | BAEZ [CRAMAEYR M WIRA | 100[] 3&10&12&13| 397.0 | 39.70 | 80.0% E7| 14 |1,073 (™) <HfeZE>2R=20.0% 14R=60.0% <3 % >14R=20.0%
T Ay N—BERED E=1208/4=131H £8| 14 1,339 TEF2—) <HEZE>2R=0.0%- 14R=80.0% <if#>14R=20.0%
@ ERIEA | =fkiir (7 @I8fHAE)—] @IEF — k) HRWAET-N A - NI AEHE=7.0% - PN R i 6=34.0%
@ /1YY | fek= (~) 1/198.5 (FBFa—) 1/397.0 | KOREE-N AL, NHIEZE DY & B R IR IANE Tk
CRRBE E Vv WA | 50E|  3&9&10 | 99.7 15.3 | 80.0% ol 2 0 () <HEZE>2R=25.0%¢4R=53.0%+ 15R=2.0% <37 >4R=20.0%
M<THyh—BERED =918/ 45=10# 9| 4 | 287 (FBFa—) RELERL, CKEL, 2REAEIFFFITABIL £77)
@ BIRMEE | =ikl /(7 @ISHAE)—] @TETF=—HEIH{k) 9| 15 1,075 MR T-NZEAFED - NEBEAE=E=5.0% PN} =i i 2£=30.0%
@ /40 = (~) 1/124.6 (FEF2—) 1/997.0 Ho| 2 161 MRPET-FRARIT, WEHEZE O E BY R REE Tk
9l 4 | 323
‘ 9| 15 | 1,210
SREEARSE |CREEKESESE MV |‘§ﬁtﬁ| 100|EI| 3&3&13 348.6 | 34.86 | 72.0% | 4.760 0 5 | 538 10.90 | 1174 <HEZE>2R=17.5% (FEZEHEIR=14.0%/F K HY=3.5%)
@ B RAER | =fki 2~ @I8AT)—) @IFEF—MEIiHt) 15 [ 1,615 <FEZE>5R=14.75%+ 15R=39.75% <ifH>15R=28.0%
@ /Y40 fifgE= (~)1/230+ (FEF2—)1/200
CRAT UNRBRKESESLE SV
(RTERIE)
213V [CRREILADFLIRE M-TC| #RA | 100[H| 3&9&10&13 | 317.7 | 32.86 | 63.0% | 3.704 [ 9 15 | 1,615 12.77 | 1,375 |(~) <HeZE> 2R=28.0% (WI[EITER=25.0%/ K #10=3.0%)
@ ERIEL | =WIRIREY (7 @IRAH)) @I8HAE)—] @IETF=—EAlH b @I/YY HER=1/158.8 <HfEZE>15R=35.0% (YRIEIZ=30.0%/FEHH 100[H]=5.0%)
<@ >15R=37.0% (FEHH°100MH])

(BFa—)<HEZE> 2R=10.0% (ERA2L - BY K VKIEZ)
<HeZE>15R=53.0% (YK [EI3Z=46.0%/F Y 100[E=7.0%)
<@ >15R=37.0% (FEH4°100MH])

=EME |CRANILKEES SAM % 25| 3&3&10&10 | 99.50 | 14.21 | 55.0% | 2.861 ; 8 | 501 g05 | 561 <HEZE>2R=10.0%+ 8R=20.0% 15R=25.0% <if & >8R=45.0%
@ 8HAE)—] @IEF=—HEHk) 15 | 940
25H




